X2 BAIMEAEDEED T

10,000

161718192021222324 252627 282930313233 34 3536 37 38 394041424344 4546 4748495051 4 5859606162

i

X3 AKIDAEEE D%/ 5 n b

3]
70 =70
60 60
50 750
& o o &
30 30
20 20
10 10

T T T T T T 1 T T T T T T
6,000 5,000 4,000 3,000 2,000 1,000 0 1,000 2,000 3,000 4,000 5,000 6,000

B

—356—




4 @RI ETEEE O 1/ S EnbE R

3|
5 *x

70 =70

60 60

507 S0

3 3
40 b=
i © B

30 EL

20 20

107 10

T T T T T T T T T T T
5,000 4,000 3,000 2,000 1,000 0 1,000 2,000 3,000 4,000 5,000
EX
HFEMMAE & ROBEHOI/NRE
BRMFELE
FmTE$ | 200mL 400mL PPP PC+PPP &at

FEMMAE 200mL  EF 8721 16770 223 26 1 25741
FERMAE D % 33.9% 65.1% 9% 1% 0% 100.0%
400mL  E¥ 29139 2586 | 134111 171 97 | 166104
FEMAE D % 17.5% 1.6% 80.7% 1% 1% 100.0%
ki3 B 2419 78 233 20986 1476 25192
FLEBMAE D % 9.6% 3% 9% 83.3% 5.9% 100.0%
/R EE 5112 191 639 15887 31240 53069
FLEMMAE D % 9.6% 4% 12% 29.9% 58.9% 100.0%
&t E# 45391 19625 | 135206 37070 32814 | 270106
FERMLSE D % 16.8% 7.3% 50.1% 13.7% 121% | 100.0%
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&2 BAMIL—LFETOIERE (km)

EBrto 49—
&Gt =2

EERE
E# % 53726
RIBIE 171
FiiE 27.1834
PR{E 10.3550
ZERE 64.66647
=/ME .00
=XIE 1523.07
NR—trB4)L 25 5.0000
50 10.3550
75 21.7400
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K3 MEMMGE & Ml O7v %

4 5]
5 % aF

RN 7k 200mL L 3915 21826 25741
MmERRMATE O % 15. 2% 84. 8% 100. 0%

B I 5% 1597 159.7
400mL ¥ 115905 50199 166104
AEBMTE O % 69. 8% 30. 2% 100. 0%

B I TR 114.2 <11 2
1. #% JE 5 14154 11038 25192
AEBRMSTE O % 56. 2% 43. 8% 100. 0%

A B W A 5% 7 176 1776
/i K 31637 21432 53069
AEBMTE O % 59. 6% 40. 4% 100. 0%

IR IR 9.0 9.0
A E g 165611 104495 270106
AERRMAE D % 61. 3% 38. 7% 100. 0%
x ° test p<0.05
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F4 HLERMIGIE & BERXKD D7 v A%

—E96—

TeSE Py
ABR | SR | g | REAES EEUTH HEX¥ | Tof AN it

Ak S 200mL XK 1400 9761 3128 3550 3525 305 3368 104 25741
AR GE D % 5. 4% 37. 9% 14. 5% 13. 8% 13. 7% 1. 2% 13.1% .4%| 100. 0%

B TR =290 -53.3 168. 4 24. 1 38.6 -20.4 .0 6.7
400mL g 19357 94722 539 15596 11108 6268 18108 406| 166104
AR SGE D % 11. 7% 57. 0% . 3% 9. 4% 6. 7% 3. 8% 10. 9% .2%| 100. 0%

IR IR 18.5 44.3 —69. 1 -4.5 =23.0 14.9 -42. 1 3.
k3 REE 2477 12216 80 1861 2217 976 5332 33 25192
A LB E D % 9.8% 48. 5% . 3% 1. 4% 8. 8% 3. 9% 21. 2% 1%| 100. 0%

AEE I iR =9, =l 176 =125 1.4 4.7 39.9 =3
TIIRANY /TS % s 5886 282471 173 4896 3122 1539 8560 46 53069
ARG E D % 11. 1% 53. 2% . 3% 9. 2% 1. 0% 2. 9% 16. 1% 1% 100. 0%

AR IR 2.6 =2 2 =210 =002 #9.8 $0. 6 23. 1 &2
ai B3 29120 144946 4520 25903 20572 9088 35368 589 270106
A LRI D % 10. 8% 53. 7% 1. 7% 9. 6% 1. 6% 3. 4% 13.1% .2%| 100. 0%

2

x © test p<0.05




— =

*5

EHELHRAOR & BEXS D7 rRFE

NBR | 2R | Ad | REAS | FR | ARE | oM | R &t
FHEEBHADR FA FE% 21458 105181 2822 21038 | 14565 6730 26448 463 198705
THELHERADR O % 10.8%| 52.9% 1. 4% 10. 6% 1. 3% 3. 4% 13. 3% .2%| 100. 0%
AR ik S S ] 29.4 -9.4 1.1 5.6 2.8
THBLHE EH 76621 39765 1698 4865 6007 2358 8920 126 71401
FHELRBADH] O % 10. 7%| 55.7% 2. 4% 6. 8% 8. 4% 3.3%| 12.5% .2%| 100. 0%
A R -5 12 7 171 -29.4 9.4 ~1.1 —9.6 =28
Gy % 29120 144946 4520 25903 20572 9088 | 35368 589 270106
THELABADH] O % 10.8%| 53. 7% 1.7% 9. 6% 1.6% 3. 4% 13. 1% .2%| 100. 0%
x ? test p<0.05




*6 MEXS & M

F—7r | BN R B At

MEXS KBE EXK 476 16972 11672 29120
FRZEX 7 D % 1.6% 58. 3% 40. 1% 100. 0%

THEF R E =3, 0 3022 8
=B ER 4158 74003 66785 144946
ZEXT O % 2. 9% 51.1% 46. 1% 100. 0%

TR IR 217 12. 6 -18.9
] K 219 1883 2418 4520
BEXST O % 4. 8% 41. 7% 53. 5% 100. 0%

0B W R 1k =72 i3
i 509 13697 11697 25903
BEXS D % 2.0% 52. 9% 45. 2% 100. 0%

R R R =318 10.0 -8.8
FE K 347 9770 10455 20572
BEXS O % 1. 7% 47. 5% 50. 8% 100. 0%

A IR WOl =73 9.1
i 162 4280 4646 9088
BEXs O % 1.8% 47.1% 51. 1% 100. 0%

B R -3.4 =35, 5 6.5
B 324 13865 21179 35368
BEXS O % . 9% 39. 2% 59. 9% 100. 0%

G TR -18. 6 S 4388 48.9
B2 20 397 172 589
BEXS O % 3. 4% 67. 4% 29. 2% 100. 0%

A TR 1.8 8.5 9.0
& Er B 6215 134867 129024 270106
BEXD O % 2.3% 49. 9% 47. 8% 100. 0%
® test p<0.05
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£ 12 BRILSFTAFET B E0E A IR O ki

BERF [EEFEBA [IL—LZEDE [/ N\RAEH [WERmE [IL—L% [fi/ R [k
g m| EfmERERmE | SR ERmE |5 ERinE |[ZFEimR [

SE1E 487,000 1,532 2,594 4,126 0.31 0.53 0.85
FMILUE 642,000 1,256 4,018 5,274 0.20 0.63 0.82
dtiEE | 3,696,000 10,917 17,583 | 28,500 0.30 0.48 0.77
BEARIE | 1,139,000 4,356 4,321 8,677 0.38 0.38 0.76
RIGE 913,000 2,651 4,190 6,841 0.29 0.46 0.75
=)=} 921,000 1,842 5,052 6,894 0.20 0.55 0.75
MEE 694,000 1,627 3,385 5,012 0.23 0.49 0.72
LEE | 1,859,000 6,000 7.366 | 13,366 0.32 0.40 0.72
EFE 850,000 1,708 4,377 6,085 0.20 0.51 0.72
BEAR | 8,696,000 41,936 20,299 | 62,235 0.48 0.23 0.72
KRAF | 5,914,000 18,587 23,030 | 41,617 0.31 0.39 0.70
wEER 507,000 1,715 1,818 3,533 0.34 0.36 0.70
EILE | 1,236,000 3,025 5,475 8,500 0.24 0.44 0.69
R 888,000 2,289 3,810 6,099 0.26 0.43 0.69
m=ARRF | 1,755,000 5,479 6,525 | 12,004 0.31 0.37 0.68
AllE 761,000 2,651 2,538 5,189 0.35 0.33 0.68
KB 749,000 2,019 3,033 5,052 0.27 0.40 0.67
= IR 713,000 1,584 3,207 4,791 0.22 0.45 0.67
BHE 514,000 1,078 2,374 3,452 0.21 0.46 0.67
285 | 1,308,000 2,940 5,722 8,662 0.22 0.44 0.66
EER 538,000 1,641 1,918 3,559 0.31 0.36 0.66
EmRE 376,000 698 1,740 2,438 0.19 0.46 0.65
EHE | 1,558,000 5,284 4,796 | 10,080 0.34 0.31 0.65
ZHIE | 4,901,000 18,134 13,507 | 31,641 0.37 0.28 0.65
BEE | 1,314,000 4,179 4,289 8,468 0.32 0.33 0.64
EIER 915,000 2,516 3,350 5,866 0.27 0.37 0.64
R EIE 1,066,000 2,334 4,468 6,802 0.22 0.42 0.64
2EF 84,092,000 254,381 280,711 | 535,092 0.30 0.33 0.64
EHE 911,000 2,649 3,050 5,699 0.29 0.33 0.63
FiBE | 1,515,000 5,134 4,280 9,414 0.34 0.28 0.62
EEE | 3,667,000 10,952 11,830 | 22,782 0.30 0.32 0.62
EFIIE 636,000 1,503 2,373 3,876 0.24 0.37 0.61
ERE 439,000 777 1,893 2,670 0.18 0.43 0.61
Lz I8 739,000 1,267 3,157 4,424 0.17 0.43 0.60
fBEIE | 3,327,000 8,425 11,370 | 19,795 0.25 0.34 0.59
FEE | 4,155,000 13,483 11,110 | 24,593 0.32 0.27 0.59
ZRBE 939,000 2,142 3,391 5,533 0.23 0.36 0.59
AR | 1,337,000 2,874 4,977 7,851 0.21 0.37 0.59
EFHE | 1,356,000 3,148 4,807 7,955 0.23 0.35 0.59
IFEIE | 1,358,000 3,605 4,246 7,851 0.27 0.31 0.58
EILE 703,000 1,427 2,537 3,964 0.20 0.36 0.56
RWE | 1,974,000 3,899 7,070 | 10,969 0.20 0.36 0.56
BEIE | 2,471,000 5,388 8,250 | 13,638 0.22 0.33 0.55
R 562,000 1,259 1,816 3,075 0.22 0.32 0.55
BHEE | 4,892,000 14,434 10,542 | 24,976 0.30 0.22 0.51
w18 6,088,000 18,287 12,731 | 31,018 0.30 0.21 0.51
HER 917,000 1,502 3,114 4,616 0.16 0.34 0.50
=F182 | 1,197,000 2,248 3,382 5,630 0.19 0.28 0.47
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